AW &HERR

KEHILHERIRSE

1 % EFAAIBARLRETSALESHERE (RUHBEZN)
B 4 A Fri27¥E6 8128 (&)  |BAFLERI 9:33
R AL & Fr =FETRIG 303K =

REHEE () F R M4 (F) B HIRREE (M)

2,634,000 2,634,000 i
¥ & & A B @M ] %

1 | BEEEKRASH 1,968,000 | 4L
, [BRSHKEFES LABRIHILMRL 28:8

ARRGERR
3 |BxEov/RBEH#RK S 2,580,000
4 [VA=DrokA R BRERAR 38

BEXH ARXHEE
5 [RRSHTRFLADLF 2,067,600

10

11

12

13

14

15

&




AW &HERR

KERBFEHERIRE
% % =FETI P RREEEHERERR T (RURREHN)
M # H ERE2746A128 (&)  |BAFLEERS 9:47
BA AL 35 AR =SB 303RBE
sxEtEE (M) FE &) B 1K 1l BR {Hi 4% (F1)
3,646,800 3,646,800 3,136,000
E 3 & % A B @ % =
1 [ABRE#7X< 3,646,000
2 |27 EL 3,643,000
3 |BRASHEPREETE BEXE 3,645,800
4 Egigz#:slzv‘wv*vxyh 3 (RN IRE )
5 |BRRIEVIVT7—HA=4 3,630,000 (&AL
6
7
8
9
10
11
12
13
14
15
i




AW#HERR

KERBFHERIRE
# % FRARME-FRBE LU I—EHRERTRAREBER
F # B FR275E6A128 (&)  |BAFLEERS 10:02
Bl AL 3B AR S AT J03RME
sxEtEE (M) FE &) B 1K 1| BR i 4% (F1)
630,000 630,000 i3
E 3 & % A g i %
1 AT ER e 400,000 | #L
2 | REmKHKEL4 600,000
3 |BEFA—FFhAEH 500,000
4 |BRX R REEH iR
5 IRFMXHEAEH BEREEM 610,000
6
7
8
9
10
11
12
13
14
15
i
=




AW#HERR

KERBFHERIRE
# % INEBGHITER IR R T RIREB R
F # B FR275E6A128 (&)  |FAFLEERS 10:16
B Al 1B AR =HETRIE J03RWE
sxEtEE (M) ¥ EffE(F) B 1K 1l BR 1Hi 4% (F1)
1,000,000 1,000,000 i
E 3 & % A g i %
1 [ KEHKHRA 24 748,000 | #+L(BFLL)
2 | AR ER KR 795,000
3 |ABRSHAFARBERHK 748,000 | (BF<L)
4 B4 ETRBRBIR K 800,000
5 RFEEHKAEH BEFEEM 810,000
6
7
8
9
10
11
12
13
14
15
i
=




AW#HERR

KERBFHERIRE
# % FERHBRIFRTREEHER
F # B FR275E6A128 (&)  |FAFLEERS 10:31
B Al 1B AR =HETRIE J03RWE
sxEtEE (M) ¥ EffE(F) K HIPR{E4E (F1)
600,000 600,000 i
E 3 & % A g i %
(EPE LY L 460,000
2 | AR RER KRR 450,000
3 |ABRSHAABERK 530,000
4 |BER—FFHEAR4 460,000
5 |BXEthTEBEA 420,000 (&4
6
7
8
9
10
11
12
13
14
15
i
=




AW#HERR

KERBFHERIRE
is % BHHBEERIEBEEXBET
F # B FR275E6A128 (&)  |FAFLEERS 10:45
B Al 1B AR =HETRG J03RWE
xEtEE () ¥ EffE(F) B 1K 11 R i 4% (F1)
6,300,000 6,300,000 i
% & £ A A #@ () fi %
1 [ZEHAEREHHAEHE KIE 5,910,000
2 |FRX2HB/EPR KIE 5,980,000
3 |BALHGISER JIIBXE 6,290,000
4 |BARHIHS-FAIXD— KIE 6,000,000
5 |TOTHAIKRE BEXE 6,295,000
6 |HXEH/ RO SV EXE 5,850,000 |74l
7 |EEfMEHRS BEXE 6,110,000
8
9
10
11
12
13
14
15
i
=




AW &HERR

KERBFEHERIRE
1% AT ERR225REREETS
B FR2766R 128 (&) 11:01
5 =FHTRIG 303 M=
xEtEE(F) FE &) B 1K | BR 1 4% (F1)
5,650,000 4,755,859
% A B (M) & %
1 |BRARHAFT7A4 FIE 4,760,000 (& 4L
2 |RXEHXBIHBE KIE 5,400,000
3 |FREHFPHERTIR =FEXRAM 4,800,000
4 ARSI EYIIR =FEEM 5,000,000
5 |ABRSM/MELEIR KI5 5,360,000
6 |ARESATHKEIREMR XIE 5,500,000
7 |[BRREHEMLIAR KIE 4,770,000
8
9
10
11
12
13
14
15

&




AW#HERR

KERBFHERIRE
# % R RS RERURISE
B i B FR27E6A128 (&)  |BEALESR 11:15
B fl 5 AR =HETRIG 3038 EE
sxEtEE (M) ¥ EffE(F) =K HIPRff4E (F1)
8,200,000 8,200,000 6,968,284
E 3 & % A g i %
1 | K2Rk et WEEER 7,968,000
2 |BEERIFKRA2 KE 7,955,000
3 |91 RT)— kA=t KB 7,370,000 |%#L
4 |BRASHXFIEER &IE 7,480,000
5 |HREARIMER KIE 7,600,000
6 |AREARARG KIE 7,998,000
7 |AREHELSE KIE 7,993,000
8
9
10
11
12
13
14
15
i




AW#HERR

KERBFHERIRE
% % 83 -5EMUKHEMSELIE
M 4 8 ERE2746A128 (&)  |BAFLERRT 13:15
B fl 5 AR =FHTR5 303 E=E
sxEtEE (M) ¥ EffE(F) B 1K 1| R i 4% (F1)
7,440,000 7,440,000 6,285,534
E 3 & % A g i %
1 | RRXBHAFTA KB 7,365,000
2 |RRAEHXEIHE KIE 7,400,000
3 |BRASHAMER FIE 7,330,000
4 |ABRSHILTHERBEIE KI5 7,385,000
5 |ABRSM/MELEIR KI5 7,377,000
6 |HRESASEHREIRAT KIE 7,350,000
7 |[BXEHEMEIAR KIE 7,300,000 |#%#L
8
9
10
11
12
13
14
15

]




AW#HERR

KERBFHERIRE
1% % PHTKEETLEAEERER
F # B FR275E6A128 (&)  |BAFLEERS 13:30
B Al 1B AR =HETRIE J03RWE
sxEtEE (M) FE &) B 1K 1| R i 4% (F1)
3,650,000 3,650,000 i3
E 3 & % A g i %
1 [ =F XIE 3,620,000
2 |FUAEHRLSH KI5 3,620,000
3 |RIANRETIERREHE =ZFXE 3,540,000 (&4l
4 |BRAEHRIR KI5 3,600,000
5 [EREEAEEAXSH JIBXE 3,610,000
6
7
8
9
10
11
12
13
14
15
i
Z




AW#HERR

KERBFHERIRE
# % =FEETE1PRR T EMELSHEBRR
M 4 8 ERE2746A128 (&)  |BAFLERRT 13::45
B Al 1B AR =HETRIE J03RWE
xEtEE () ¥ EffE(F) =K IR ff4E (F1)
12,600,000 12,600,000 i
E 3 & % A Hog WM™ i %
: %;%#ii#ﬁ&ﬂi%ﬁﬁ ASLHEFH 12,600,000
2 |b—ha4Tvokkeit SLTREXM 12,600,000
3 |BRAHREKETEHAT BAREHN 12,600,000
4 ;KLT*EE&EH%E%H BREH 12,600,000
5 |AXREEHAEH BEREHR 11,970,000
6 |BAKIFmEHHRAR4 BEREHMR 12,600,000
7 (K& BAKaY BESHF 11,300,000 |34l
8
9
10
11
12
13
14
15
i
=




